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Introduction
The es_cohen_d_os function calculates a Cohen d’ effect size, used for one-sample situations.

This document contains the details on how to use the functions, and formulas used in them.

1 About the Function

1.1 Input parameters:
e data
o Excel: a specific range with the numeric scores
o Python: a pandas series with the numeric scores
o R:avector with the numeric scores

e Optional parameters

o mu
the hypothesized mean. If not specified the midrange will be used.
o qual

the rule-of-thumb method to use for the classification (see th_cohen_d for details)

1.2 Output
o d
the effect size measure
e classification
classification/qualification of the effect size

Note for Excel:

the array function es_cohen_d_os_arr will require 2 rows and 2 columns.

1.3 Dependencies

o Excel
o th_cohen_d from thumb_cohen_d for the qualification
o Optional you can run the es_cohen_d_os_addHelp macro so that the function will be

available with some help in the ‘User Defined’ category in the functions overview.
e Python
The following libraries are needed:

o pandas is needed for data entry and showing the results
o th_cohen_d from thumb_cohen_d for the qualification

o th_cohen_d from thumb_cohen_d for the qualification
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2 Examples

2.1 Excel
Over_Grade

20
50 hyp. Mean. 70
80
15 Cohend'
40 value -0,59534 =es_cohen_d_os(A2:A21;03)
85 qual large =es_cohen_d_os{A2:421;D3;;C7)
30
45 Cohend' Qualification
70 -0,0253334 negligible
60
90 C9:D10=> |=es_cohen_d_os_arr(A2:A21)
25
40
70
65
70
98
40
65
60

2.2 Python

from eff_size_cohen_d_os import es_cohen_d_os
import pandas as pd

datalist = [20, 50, 88, 15, 40, 85, 30, 45, 78, 60, 90, 25, 48, 70, 65, 70, 98, 40, 65, 60]
data = pd.Series(datalist)

es_cohen_d_os{data)

d" Classification

0 0.025333 negligible

es_cohen_d_os(data, mu=70)
d" Classification

0 0595336 very large

23 R

source("thumb_cohen_d.R™)
source("eff_size_cohen_d_os.R")

data <- c(20, 50, 80, 15, 40, 85, 30, 45, 70, 60, 90, 25, 40, 70, 65, 70, 98, 40, 65, 60)
es_cohen_d_os (data)
d' qualification
0.02533345 negligible
es_cohen_d_os (data, mu=70)
d' qualification
1 0.595336 Targe
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3 Details of Calculations

&
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To convert this to a regular Cohen’s d for interpretation use:

Symbols:

e i the sample mean

d=d x+2

®  Uyo the hypothesized mean in the population
e s the unbiased sample standard deviation

4  Sources

For the one-sample c;ser(Casc 3), we define

(23.3) day=T2°F

o

2

(Cohen, 1988, p. 46)
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